

Collins Sarima Lennenda

19/SciA/034

Computer science

Find the integral of the following

$$1) \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)}{(x-1)(x-2)(x-3)}$$

$$3x-1 = A(x^2-5x+6) + B(x^2-4x+3) + C(x^2-3x+2)$$

$$3x-1 = Ax^2-5Ax+6A + Bx^2-4Bx+3B + Cx^2-3Cx+2C$$

collect like terms

$$3x-1 = x^2(A+B+C) + x(-5A-4B-3C) + 6A+3B+2C$$

Comparing the LHS with the RHS

$$A+B+C=0 \text{ --- (i)}$$

$$-5A-4B-3C=3 \text{ --- (ii)}$$

$$6A+3B+2C=-1 \text{ --- (iii)}$$

$$A=-B-C \text{ --- (iv)}$$

Put (iv) in (ii) and (iii)

$$-5(-B-C)-4B-3C = B+2C = 3 \text{ --- (v)}$$

$$6(-B-C)+3B+2C = -3B-4C = -1 \text{ --- (vi)}$$

from (v)

$$B = 3 - 2C$$

Substituting $B=3-2C$ in (vi)

$$-3(3-2C)-4C = -1$$

$$-9+6C-4C = -1$$

$$-9+2C = -1$$

$$C = 4$$

Substituting $C=4$ in equation (v)

$$B + 2(4) = 3$$

$$B + 8 = 3$$

$$B = 3 - 8 = -5$$

Substituting $B = -5$ and $C = 4$ in (1)

$$A - 5 + 4 = 0$$

$$A = 5 - 4 = 1$$

Hence

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx - \int \frac{5}{x-2} dx + \int \frac{4}{x-3} dx$$
$$= \ln|x-1| - 5\ln|x-2| + 4\ln|x-3| + C$$

2 $\int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx$ solution

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$\frac{x^2 + x + 1}{(x+2)(x^2+1)} = \frac{A(x^2+1) + Bx+C(x+2)}{(x+2)(x^2+1)}$$

$$x^2 + x + 1 = A(x^2+1) + Bx + C(x+2)$$

$$x^2 + x + 1 = Ax^2 + A + Bx + Cx + 2C$$

collecting like terms

$$x^2 + x + 1 = x^2(A+B) + x(C+B+C) + A + 2C$$

Comparing the L.H.S and R.H.S

$$A+B = 1 \quad \text{--- (i)}$$

$$2B+C = 1 \quad \text{--- (ii)}$$

$$A+2C = 1 \quad \text{--- (iii)}$$

$$B = 1 - A \quad \text{--- (iv)}$$

Substituting (iv) into (ii)

$$2(1-A) + C = -2A + C = -1 \quad \text{(v)}$$

from (iii)

$$A = 1 - 2C$$

Substituting $A = 1 - 2C$ in (v)

$$-2(1-2C) + C = -2 + 4C + C = -1$$

$$5C = 1$$

$$C = \frac{1}{5}$$

Substituting $C = \frac{1}{5}$ in (ii)

$$A + 2\left(\frac{1}{5}\right) = 1$$

$$A = \frac{3}{5}$$

Substituting $A = \frac{3}{5}$ in (i)

$$\frac{3}{5} + B = 1$$

$$B = \frac{2}{5}$$

Hence

$$\begin{aligned} \int \frac{x^2 + x + 1}{(x+2)(x^2+1)} dx &= \int \frac{-\frac{3}{5}}{x+2} dx + \int \frac{\frac{2}{5}x + \frac{1}{5}}{x^2+1} dx \\ &= \int \frac{-\frac{3}{5} dx}{x+2} + \int \frac{2x+1}{5(x^2+1)} dx \\ &= \int \frac{3 dx}{5(x+2)} + \int \frac{2x+1}{5(x^2+1)} dx \\ &= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + \frac{1}{5} \tan^{-1} x + C \end{aligned}$$

$$3 \int \frac{x^2+1}{(x-3)(x-2)^2} dx$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A(x-2)^2 + B(x+3)(x-2) + C(x-2)}{(x-3)(x-2)(x-2)^2}$$

$$x^2+1 = A(x-2)^2 + B(x+3)(x-2) + C(x-2)$$

$$x^2+1 = A(x^2-4x+4) + B(x^2-5x+6) + C(x-2)$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 2C$$

Collecting like terms

$$x^2+1 = x^2(A+B) + x(-4A-5B+C) + 4A+6B-2C$$

Comparing LHS and RHS

$$A+B = 1 \text{ --- (i)}$$

$$-4A-5B+C = 0 \text{ --- (ii)}$$

$$4A+6B-2C = 1 \text{ --- (iii)}$$

$$A = 1-B \text{ --- (iv)}$$

Substituting (iv) in (ii) and (iii)

$$-4(1-B) - 5B + C = -B + C = 4 - C \quad (v)$$

$$4(1-B) + 6B - 3C = 2B - 3C = -3 - C \quad (vi)$$

from (v)

$$B = -4 + C$$

Substituting $B = -4 + C$ in (vi)

$$2(-4 + C) - 3C = -3$$

$$-8 + 2C - 3C = -3$$

$$C = -5$$

Substituting $C = -5$ in (v)

$$-B - 5 = 4$$

$$B = -9$$

Substituting $B = -9$ in (i)

$$A - 9 = 1$$

$$A = 10$$

Hence

$$\int \frac{x^2 + 1}{(x-3)(x-2)^2} dx = \int \frac{10 dx}{x-3} - \int \frac{9 dx}{x-2} - \int \frac{5 dx}{(x-2)^2}$$
$$= 10 \ln|x-3| - 9 \ln|x-2| - \frac{5}{x-2} + C$$

$$4 \int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$x-1 \overline{) \begin{array}{r} x^3 + x^2 + x + 1 \\ -x^3 - x^2 \\ \hline \end{array}}$$

$$2x^2 + x + 1$$

$$-2x^2 - 2x$$

$$3x + 1$$

$$-3x - 3$$

4

$$\int \frac{x^3 + x^2 + x + 1}{x-1} = \int x^2 dx + \int 2x dx + \int 3 dx + \int \frac{4}{x-1} dx$$

$$= \frac{x^3}{3} + \frac{2x^2}{2} + 3x + 4\ln|x-1| + C$$

$$= \frac{x^3}{3} + x^2 + 3x + 4\ln|x-1| + C$$